EARAZROREIERT — 2 N—XBISY —F 201855838 (AK) 2EIEAN3H

Wl 771 FILL—X C3 5% —#% ‘ [X] % ‘ [eEmE] - | 4 (£) 13000 F&
[A&4£] 1 7 :200,000™ ~ 23#%&:60,000H”  33&:30,000H”  437:20,000MH .~ 57&:10,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
= 4 | BAEK 1:25.9 1-1-1-1 [40.3| — 5 465 | BiEXEH (BH)
118[11| 74 —HZXZ41 b # 252.0 =) © ESRDEVI
LT RIAY Ty IZ B R—LIIL b JO-Y—T7—L
j # o4 | BRER 1:26.2 45-2-2 |40.2| — | 3 | 455 |HAAEB) (SH)
2|5(6|T-7 54.0 (1172 Cor) | B
VPR YIYRIR BiAAHTLAR HET7—L4
FEREE . —0—-0—f — EiEfEE (SH)
3 FrURY T H o6 =8 1.(257>.3 10-9-9-6 | 41.1 7 ?(2)? i
R:FATAT v — BYIN—F v 2R R S E N
N N KRR : —8-6- = EBEX (FH)
A TI— T 2w 4 4 3616 = 1(/72{:;1 8-8-6-4 | 41.3 2 (4_626) RIE
R:TUHA XIS B TI—NEXRR INEFAIS
N Ny FENllEGIN :27. —-3-2- . — AARREE) (FH)
5 R/ SR N o4 56.0 (172;74) 2o23 415 1 ?j; nAuﬁ%%E
RIAYFE2T BiRI¥LIIv— EKT7— L
5 7o ARt : -3-5- - RIFFET] (FH)
6 Jy hI—THAL % 3 e 1.(227).8 4-3-5-5 | 41.8 10 a:és)) EE*;E
L:Z2ZAHR R BTAINRAY—Ta VAN ¢
P S 4 4 | BARKH 1:27.8 7-7-71-8 | M1.7| — 12 419 | BiE— (&)
7179 |T7vI—4 75370 (F745%) (1) | FER
LZFAT—IE BiF v AL RU—1L EvilLy RT7—L
> A= s 7 | KiEHEER 1:28.2 6-6-8-7 |42.1| — 9 432 | #MIEE (BF)
gl1]1|¥TRKR==2 54.0 @) (1) | BHEM
:ArFaMy b BivMxov)v— ARXRETa—-T7—L
~ R —ER . _10_11— _ =RE— (&FF)
9 4 NV TS5 — 4 4 o 1(728t>2 12-12-11-101 41.3 1 ;1_210) ;ﬁ%
R:ARN—3I>ThR—L B:YNIFULET FEL BE
P S #o5 | BERI 1:28.2  [11-11-11-12| 41.2 | — 8 | 456 |HFPE= (B
10l7]10/ %/ >¥ v b 56.0 (7 E) (-3) | BHEH
LB/ vTa BHICRITY TS
: 14 | BERRRE 1:28.4 8-9-10-9 |42.0| — 6 466 | BEILTAE (SH)
1(6(5| 7Y /NI K : 56.0 (3/4) e | 0 SILEy b
LB JFLLyY b BiVLINUY YR 2
~ . S 4 | BEEX 1:30.4 3-2-2-11 | 44.5| — 4 464 | ETREE= (SH)
128 12| ¥ T FIA T = "D (51%) e | ) X
R:wy)Edyk B hPRATI FA AR
® I —F—EBIERL
1a—74— 11,3,12,(6,7),1,9,(5,8),2,10,4
Aol=5r= 11,12, (3,7),6,1,9,8,(2,5),10,4
33—7+— |[11,(3,6,12),7,8,9,1,2,5, (4,10)
4=1=Ch— 11,6,3,8,7,2,1,9,5,4,12,10
[ RN
B OB 1 690H 714K 6-11 470M e & 5-8 540 &R 2-6-11 3,360
7 B 1 240 2-11 1,250 | | B = 6-11 1,290/ | | 3=& 11-6-2 16,650
6 180M 2-6 850M B H 11-6 3,020
2 430M

ABICOVWTRDTEEERROODE. TR LIV,



